[ZFHEE — HEFEE] [EEx ]
£ H I EEE EeER) | B B> {E1Et £ H “HIK
(IRADER) I BHIE 1 EPEDH
1. ZHRERE 100,000 1 iEhE PE
2. = M4 10,071 14 6,951
3. FEILE e 4 85,000
R IR E 110,071 0 ERIVE 0
(ZHDER) 0 &R¥EEH
1. HEE TENE PES R 91,951
(D) N2
W 5 4 BELSE 91,951
INGE- & 0 0 nEEDOE
(2) FDihFRE 1 yiEh Al
S-SRk ¢ 6,500 152 4% 0
A5 - M 11,620 KILE 0
EDOMFREE 18,120 0
BHEREH 18,120 0 mENAE S FT 0
2. B
(1) A% AEEE 0
i B R 0 0 I 1EBRBA PE D ER
NG 0 0 AT IE R A B 0
(2) F DR
BN IEN g 0 U W1 IE R A B &R 91,951
A5 EMR 0
Moty 0 IERMESH 91,951
T OMFREE 0 0
CHEE 0 0 AL L O ERMESST 91,951
REB R 18,120 0
(S HIN L ZEHR) X I LR PE VAR 91,951 0
(RT3 2%R) BT H sk I Ik B PE AR
(R EA BRI X 72 5R) YR EA MR IE R B PE AR 91,951 0
(B4&owmp  HAeTHESE)




